3/11/24, 8:32 AM Max Trainer M3: &nbsp;My machine is making a metallic grinding or scraping noise

Max Trainer M3: My machine is making a metallic grinding or scraping
noise ID: 13695.1

Follow this troubleshooting guide to help resolve the root cause of noises on the Max Trainer M3. If you are unsure of which
type of noise your Max Trainer is making, listen to the noise examples attached below. A normally functioning Max Trainer
should sound like this.

Some common complaints may include:

e Metallic grinding or scraping noises
e (lick here to listen to an example of the noise

Follow these steps to troubleshoot the issue

Phillips head screwdriver
14mm socket wrench, or wrench from the hardware card
included with your machine

1. Check if the brake magnets are making contact with the brake disc by doing the following:
o Carefully remove the upper 3 screws attaching the round plastic cover located on the lower right side of your
machine.
o Loosen the bottom screw by at least 3 turns.
o The power plug inlet wire is attached to the inside and needs to be gently unplugged before completely
removing the cover (reference 1.1). It may help if you tilt the machine gently to the side to remove the bottom
screw [13695.A].

(Reference 1.1)

The white arrow indicates the location of the power plug wire inlet and bottom screw. The bottom screw can be loosened 3 turns rather tha
removing it entirely. The white circles indicate the locations of the screws to remove in order to remove the cover.

2. If the magnets are not making contact, check the black plastic bracket located between the brake disc and the frame.
Remove the 3 screws on the brake disc (reference 1.2) and set the brake disc off to the side. This bracket holds the
metal tension cable to the Potentiometer and may be in contact with the back of the brake disc. Loosen the two

about:blank 1/4


https://bowflex.cloud.usu.com/knowledgebase/openAttachment.do?entity.id=13695&mandatorKey=MANDATOR_USU&att.author=Ault%2C+Nichole&att.description=&att.fileName=MAX+Normal+Sound.mp3&att.mimeType=audio%2Fmpeg&att.creationDate=1626458021183&att.fileSize=241376&att.id=14693&att.isPartOfHTML=true&att.isDocument=true
https://bowflex.cloud.usu.com/knowledgebase/openAttachment.do?entity.id=13695&mandatorKey=MANDATOR_USU&att.author=Ault%2C+Nichole&att.description=&att.fileName=MAX+Grinding+Sound.mp3&att.mimeType=audio%2Fmpeg&att.creationDate=1626458039907&att.fileSize=243680&att.id=14681&att.isPartOfHTML=true&att.isDocument=true

3/11/24, 8:32 AM Max Trainer M3: &nbsp;My machine is making a metallic grinding or scraping noise

screws (reference 1.3) on the bracket and push the bracket inwards, towards the Potentiometer. Retighten the screws
and re-attach the brake disc [13695.B].

(Reference 1.2)

The white circles indicate the locations of the screws to remove in order to remove the brake disc.

(Reference 1.3)

The white circle indicates the location of the screws to loosen in order to adjust the position of the black plastic bracket.

3. If the magnets are making contact, check to see if they have broken off the red plastic arm. If the magnets are broken
off or are otherwise damaged, order an Eddy Brake Assembly [13695.C].

4. If the red plastic arm is still intact, loosen the two bolts located directly at the bottom of the brake (reference 1.4).
Adjust the brake from side to side until no longer touching the metal disc, then retighten both bolts. Test to see if the
magnets are no longer making contact by adjusting the resistance up and down while slowly rotating the brake disc.
Properly distanced brake magnets should look like the photo in reference 1.5. If at any point they begin making
contact, repeat this step. Once they are no longer making contact, reassemble your machine [13695.D].

(Reference 1.4)

about:blank 2/4


https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?noStatistic=true&callFromKminer=true&showMenu=false&showButtons=false&entity.GUID=21b0b865-4e14-4f57-8gbg-41f929269f88&mandatorKey=MANDATOR_USU#Parts

3/11/24, 8:32 AM Max Trainer M3: &nbsp;My machine is making a metallic grinding or scraping noise

The white arrows indicate the location of the bolts to loosen in order to adjust the brake magnets.

(Reference 1.5)

When brake magnets are distanced from the brake disc properly, they should appear the same as in this photo.

5. It is normal for the brake disc to appear to "wobble," as long as it does not come in contact with the brake magnets. I
the magnets cannot be adjusted so they don't contact the brake disc, order an M3 Engine [13695.E].

Looking for other noises to troubleshoot?

e Max Trainer M3: Why is my machine making_a weird noise?

e Max Trainer M3: My machine is making a rattling noise

e Max Trainer M3: My machine is making a clicking, clunking, or knocking noise

e Max Trainer M3: My machine is making a rubbing noise

e Max Trainer M3: My machine is making a squeaking, squealing, or chirping noise

about:blank 3/4


https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?noStatistic=true&callFromKminer=true&showMenu=false&showButtons=false&entity.GUID=21b0b865-4e14-4f57-8gbg-41f929269f88&mandatorKey=MANDATOR_USU#Parts
https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?isReference=true&isPartOfHTML=true&entity.id=10956&entity.GUID=fc90f6c3-8g49-424g-g32c-188d7133dg41&mandatorKey=MANDATOR_USU
https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?isReference=true&isPartOfHTML=true&entity.id=13702&entity.GUID=97gb7efe-0306-48c2-99f2-6gbbe43g32cf&mandatorKey=MANDATOR_USU
https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?isReference=true&isPartOfHTML=true&entity.id=13700&entity.GUID=8g904fd5-4cce-4e98-gd24-399b6b12dc74&mandatorKey=MANDATOR_USU
https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?isReference=true&isPartOfHTML=true&entity.id=13698&entity.GUID=051c321b-0c77-47c6-gg94-11ff10603032&mandatorKey=MANDATOR_USU
https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?isReference=true&isPartOfHTML=true&entity.id=13697&entity.GUID=48g23bd2-24e6-4334-9g8f-gg82f7de240g&mandatorKey=MANDATOR_USU

3/11/24, 8:32 AM Max Trainer M3: &nbsp;My machine is making a metallic grinding or scraping noise

Need to order replacement parts?

1 Customer Care Contact Information

Please contact Customer Care at 1-800-605-3369 for additional help or to order replacement parts.
Some replacement parts may also be available for purchase online here.
A list of part numbers referenced within this guide can be located at the bottom of this page.

Customer Care - Hours of Operation:
Monday - Friday 6:00am - 5:00pm PST

The replacement part will be provided to you at no cost assuming your machine meets the warranty eligibility
requirements. A Customer Care Agent will be able to assess your current warranty eligibility and provide you with your
options.

Please note that if you did not purchase your machine directly from BowFlex, Schwinn, or Nautilus, we will need a copy
of your purchase receipt in order to register your machine for warranty.

2 Parts Reference Table

Eddy Brake Assembly 8004558
M3 Engine 8016603

3 Contact Tech Team / Advanced Troubleshooting

If the issue was not resolved in the steps listed, contact the Tech Team or send an Advanced Troubleshooting
case.

Submit a Case with case type Advanced Troubleshooting

about:blank 4/4


https://www.bowflex.com/replacement-parts/

